Daily Quiz #1
Show your work to receive credit.  You can use your notes.

Name ________________________

1. _______________ atm = 951 mm Hg


_______________ kPa = 2.9 atm



2. _______________ A balloon is filled with 135.0 L of helium in the morning when the temperature is 20.00 °C. By noon the temperature has risen to 47.00 °C. What is the new volume of the balloon? 

3. _______________ A 350. L tank of oxygen is at 315 K with an internal pressure of 190 atmospheres.  Calculate its new volume if the temperature rises to 350 K and pressure rises to 256 atmospheres.
4. _______________ CaCO3 decomposes at 1200 °C to form CO2 gas and CaO. If 25 L of CO2 are collected at 1200 °C, what will the volume of this gas be after it cools to 250 °C? 

5. _______________ There are 35 L of gas in a container at a temperature of 2600 °C. If the gas was cooled until the volume decreased to 175 L, what would the temperature of the gas be?

6. _______________ What is the new volume of 150.0 L of a gas at STP if the new pressure is 3 atm and the temp. is 25 oC?

7. _______________ What is the partial pressure of neon in a container that has a total pressure of 105 kPa if the pressure of the argon in the sample is 98 kPa?  Hint:  Total pressure = pressure of argon + pressure of neon
8. _______________ What is the pressure of the dry gas collected over water at 25 oC if the total pressure is 800 mm Hg? (vapor pressure of water at 25oC is 23.8 mmHg)  Hint:  subtract the vapor pressure of water from your answer
9. _______________ What is the pressure of 1 L gas collected over water at 25 oC if it has a volume of 4 L at STP?  (vapor pressure of water at 25oC is 23.8 mmHg) Hint:  subtract the vapor pressure of water from your answer
10. ______________ 15.0 g sample of zinc reacts with excess hydrochloric acid to produce what volume of the gas at STP?
11. ______________If the gas in the above problem were to be heated to 25 ºC has a new pressure of 2.0 atm, what volume will it occupy?  
12. Why does the temperature have to be in Kelvin for the gas laws?
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Daily Quiz #1
Show your work to receive credit.  You can use your notes.

Name ________________________
1. _______________ atm = 51 mm Hg


_______________ kPa = 22.9 atm



2. _______________ A balloon is filled with 13.0 L of helium in the morning when the temperature is 20.00 °C. By noon the temperature has risen to 47.00 °C. What is the new volume of the balloon? 

3. _______________ A 30. L tank of oxygen is at 315 K with an internal pressure of 190 atmospheres.  Calculate its new volume if the temperature rises to 350 K and pressure rises to 256 atmospheres.

4. _______________ CaCO3 decomposes at 1200 °C to form CO2 gas and CaO. If 125 L of CO2 are collected at 1200 °C, what will the volume of this gas be after it cools to 250 °C? 

5. _______________ There are 65 L of gas in a container at a temperature of 2600 °C. If the gas was cooled until the volume decreased to 175 L, what would the temperature of the gas be?

6. _______________ What is the new volume of 10.0 L of a gas at STP if the new pressure is 3 atm and the temp. is 25 oC?

7. _______________ What is the partial pressure of neon in a container that has a total pressure of 105 kPa if the pressure of the argon in the sample is 98 kPa?  Hint:  Total pressure = pressure of argon + pressure of neon
8. _______________ What is the pressure of a gas collected over water at 25 oC if the total pressure is 800 mm Hg?  (vapor pressure of water at 25oC is 23.8 mmHg)  Hint:  subtract the vapor pressure of water from your answer
9. _______________ What is the pressure of 1 L gas collected over water at 25 oC if it has a volume of 4 L at STP?  (vapor pressure of water at 25oC is 23.8 mmHg)  Hint:  subtract the vapor pressure of water from your answer
10. ______________ 15.0 g sample of zinc reacts with excess hydrochloric acid to produce what volume of the gas at STP?
11. ______________If the gas in the above problem were to be heated to 25 ºC has a new pressure of 2.0 atm, what volume will it occupy?  
12. Why does the temperature have to be in Kelvin for the gas laws?

 

Gas Law Quiz #1
Show your work to receive credit
Name ________________________

1. _______________ atm = 800 mm Hg


_______________ kPa = 19 atm



2. _______________ What is the partial pressure of neon in a container that has a total pressure of 105 kPa if the pressure of the argon in the sample is 98 kPa?

3. _______________ What is the pressure of a gas collected over water at 25 oC if the total pressure is 800 mm Hg?

4. _______________ What is the pressure of 1 L gas collected over water at 25 oC if it has a volume of 4 L at STP?

5. _______________ A balloon is filled with 35.0 L of helium in the morning when the temperature is 20.00 °C. By noon the temperature has risen to 45.00 °C. What is the new volume of the balloon? 

6. _______________ In the chem lab, a student filled a balloon with 2 different gases, CO2 and N2. The atmospheric pressure in the chem lab was 770.0 mmHg and the partial pressure of CO2 added to the balloon was 0.3255 atm. What was the partial pressure of N2 in the balloon?
7. _______________ 75.0 mL of a gas was collected over water at 22.0°C and 749.8 mmHg. What will the volume of the “dry” gas be at STP?


8. _______________ A 35 L tank of oxygen is at 315 K with an internal pressure of 190 atmospheres.  Calculate its new volume if the temperature rises to 350 K and pressure rises to 225 atmospheres.

9. _______________ CaCO3 decomposes at 1200 °C to form CO2 gas and CaO. If 25 L of CO2 are collected at 1200 °C, what will the volume of this gas be after it cools to 250 °C? 

10. _______________ There are 135 L of gas in a container at a temperature of 2600 °C. If the gas was cooled until the volume decreased to 75 L, what would the temperature of the gas be?

11. _______________ What is the new volume of 10.0 L of a gas at STP if the new pressure is 3 atm and the temp. is 25 oC?

Compare the relative rates of the following gases using Graham’s Law (ex.  X gas is 1.62 times faster than Y gas: 

12. _______________ 
Hydrogen and bromine

13. _______________ 
Carbon monoxide and water vapor

14. __________________ 
Neon and hydrogen

15. Why is does the temperature have to be in Kelvin for the gas laws?

Gas Law Quiz #1
Show your work to receive credit
Name ________________________

1. _______________ atm = 600 mm Hg


_______________ kPa = 7.9 atm



2. _______________ A balloon is filled with 35.0 L of helium in the morning when the temperature is 20.00 °C. By noon the temperature has risen to 45.00 °C. What is the new volume of the balloon? 

3. _______________ What is the new volume of 10.0 L of a gas at STP if the new pressure is 3 atm and the temp. is 25 oC?

4. _______________ What is the partial pressure of neon in a container that has a total pressure of 105 kPa if the pressure of the argon in the sample is 98 kPa?

5. _______________ What is the pressure of a gas collected over water at 25 oC if the total pressure is 800 mm Hg?

6. _______________ What is the pressure of 1 L gas collected over water at 25 oC if it has a volume of 4 L at STP?

7. _______________ In the chem lab, a student filled a balloon with 2 different gases, CO2 and N2. The atmospheric pressure in the chem lab was 770.0 mmHg and the partial pressure of CO2 added to the balloon was 0.3255 atm. What was the partial pressure of N2 in the balloon?
8. _______________ 75.0 mL of a gas was collected over water at 22.0°C and 749.8 mm Hg. What will the volume of the “dry” gas be at STP?





9. _______________ A 35 L tank of oxygen is at 315 K with an internal pressure of 190 atmospheres.  Calculate its new volume if the temperature rises to 350 K and pressure rises to 225 atmospheres.

10. _______________ CaCO3 decomposes at 1200 °C to form CO2 gas and CaO. If 25 L of CO2 are collected at 1200 °C, what will the volume of this gas be after it cools to 250 °C? 

11. _______________ There are 135 L of gas in a container at a temperature of 2600 °C. If the gas was cooled until the volume decreased to 75 L, what would the temperature of the gas be?

Compare the relative rates of the following gases using Graham’s Law (ex.  X gas is 1.62 times faster than Y gas: 

12. _____________ 
Hydrogen and chlorine

13. _____________ 
Carbon dioxide and water vapor

14. _____________
Argon and hydrogen

15. Why is does the temperature have to be in Kelvin for the gas laws?

